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SIS = _ _
o < O &b & |4 ow | B A &k = pJ =
3113
NEEE 5.120,321|  15.676.225 | 10,565,904 = 1693081 (2 572,0001  [%= 820,880]
100
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110
o124y 15,464 16,500 A 1,036
101
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31,240 X 99! X 52 X 1188 = 15,464
120
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201
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O [ geragy | = 8,875
o RASY U4 = 2,375
o HEBASY AsUX A 2,000 X 2,500 = 5,000
o FEHM MATX EXB ME 1,500 X 1,0002X = 1,500
Ol2 ] = 3,000
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O #&Z LI0ISA]S HXI0HY
100,000 X 1001 X 23] = 2,000
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Qb AL 10,000 10,000 0
10,000 10,000 010 BAIMHI 2 &2
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1,000,000 X 151 = 1,000
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200
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206
EL] 1,098,436 | 1,451,814 358,378
1,098,436 | 1,451,814  A358,378|00 24|
O EESHPIN(NLSEAL) 98,000 X 4,530.61ha = 444,000
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891,870 12,188,581 | A11,296,711]12 JIEtE &
et B=sAXE X2 X 300,000 X 2,610ha = 783,000
(= 783,000 )
HHI LU X2 A 30,000 X 1,433€ = 42,990
(= 42,990 )
e HSASOEK 2 200,000 X 329.424 = 65,880
(¢ 65,880 )
307
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402
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2,000,000 X 700ha X 50/100 = 700,000
(2 350,000 )
(¢ 70,000 )
(= 280,000 )
O =2 FHHSLH AL
7,000,000 X 20.3ha X 80/100 = 113,680
(= 71,050 )
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(= 28,420 )
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ni; = Wl&ﬁoﬂ&oﬁugA%‘ &t = b x
O HeB=AZAUXEL
2,000,000 X 344.4ha X 50/100 = 344,400
(= 344,400 )
O HEF=YNREY 261,300,000 X 2744 X 80/100 = 418,080
(= 278,720 )
(= 139,360 )
O HEA=IHALK 26,640,000 X 54 X 50/100 = 66,600
(= 66,600)
O HSA=Q ARR HXEH
2,000,000 X 8.3330H4 X 50/100 = 8,333
(= 8,333)
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402
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1,382,000 126,800 1,255,200 01 RI2tRH= R E
O HEFSHE WR=9% AAZH N
2,000,000 X 5% X 80/100 = 8,000
O HEZM MMOX AFETLAY X
2,000,000 X 920ha X 60/100 = 1,104,000
O HeB=Y AF=I =T XY
1,000,000 X 140ha X 50/100 = 70,000
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O ZFEHAL € 0= ZSII£X
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O Zedsd MEusat X
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